

試験答案用紙

1. $I = \int x^{1/2} (x^2+1)^{-3/4} dx$ (1) (2)

$t = (1+x^2)^{1/4}$ と置換する. $dt = \frac{1}{4}(1+x^2)^{-3/4} \cdot (-2x^3) dx$

$dt = -\frac{1}{2} \left(\frac{x^2+1}{x^2}\right)^{-3/4} \cdot x^{-3} dx = -\frac{1}{2} x^{-3} (x^2+1)^{3/4} dx$

$\therefore x^{1/2} (x^2+1)^{-3/4} \cdot x^{3/2} (x^2+1)^{3/4} = x^2 (x^2+1)^{0} = x^2$

$\therefore I = \int \frac{-2}{t^2} dt = \frac{2}{t} = 2 \left(\frac{x^2+1}{x^2}\right)^{-1/4} = \frac{2\sqrt{x}}{\sqrt{x^2+1}}$ (6)

2. $y' = -y \cos x \Rightarrow \int \frac{dy}{y} = -\int \cos x dx + C$

$\therefore \log |y| = -\sin x + C \Rightarrow y = e^{-\sin x}$ (1)

$u = u(x)$ とし $y = ue^{-\sin x}$ とし (1) に代入する

$u'e^{-\sin x} = \cos x \sin x$ $u' = e^{\sin x} \cos x \sin x$ (2)

$u = \int e^{\sin x} \sin x \cos x dx + C$, $t = \sin x$ と置換する

$u = \int te^t dt = te^t - e^t = e^t(t-1)$ (3)

$\therefore u = e^{\sin x} (\sin x - 1) + C$ (4)

$\therefore y = ue^{-\sin x} = (e^{-\sin x} + \sin x - 1)$ (6)

3. $u = x - 3y \dots$ (2) とし $u' = 1 - 3y'$, yz

(1) $y' = \frac{2u+7}{u+4}$ とし $u' = 1 - \frac{6u+21}{u+4} = \frac{-5u-17}{u+4}$

$\frac{u+4}{5u+17} u' = -1 \Rightarrow \int \frac{u+4}{5u+17} du = -x + C$

$\log \left| \frac{1}{5} + \frac{3}{5} \cdot \frac{1}{5u+17} \right| du = \frac{1}{5}u + \frac{3}{25} \log |5u+17|$

$e^{5u} (5u+17)^3 = ce^{-25x} \Rightarrow e^{30x-15x} (5x-15y+17)^3 = C$

$(\log |5x-15y+17| + 10x - 5y = C)$ (5)

$5u+17=0, \text{ したがって } 5x-15y+17=0$

(z 解く)

- 4 (1) $\int x^{3/2} dx = \frac{2}{5} x^{5/2} = \frac{2}{5} \sqrt{x^5} = \frac{2}{5} x^2 \sqrt{x}$
- (2) $\log |x|$ (3) e^x (4) $-\cos x$
- (5) $\sin x$ (6) $\tan x$ (7) $-\cot x$
- (8) $\sin^{-1} \frac{x}{\sqrt{5}}$ (9) $\frac{1}{2} \tan^{-1} \frac{x}{2}$
- (10) $\log |x + \sqrt{x^2-3}|$
- (11) $\frac{1}{45} e^{-6x} (-6 \sin 3x - 3 \cos 3x)$ ϕ 1点
- $= -\frac{1}{15} e^{-6x} (2 \sin 3x + \cos 3x)$
- (12) $\frac{1}{2} (x \sqrt{6-x^2} + 6 \sin^{-1} \frac{x}{\sqrt{6}})$
- (13) $\frac{1}{4} \log \left| \frac{x-2}{x+2} \right|$
- (14) $\frac{1}{2} (x \sqrt{x^2-6} - 6 \log |x + \sqrt{x^2-6}|)$

$\therefore I_{2,4} = \frac{1}{6} \sin^5 x \cos x - \frac{1}{24} \sin^3 x \cos x - \frac{1}{16} \sin x \cos x + \frac{1}{16} x$

$= \frac{1}{48} \cos x (8 \sin^5 x - 2 \sin^3 x - 3 \sin x) + \frac{1}{16} x$

$= \frac{1}{48} \sin x \cos x (8 \sin^4 x - 2 \sin^2 x - 3) + \frac{1}{16} x$ (13)

(11) $\frac{1}{5} \sin^5 x$ (12) $\frac{1}{5}$

(13) 6 (14) $\sin^4 x$

(15) $\frac{1}{6} \sin^5 x \cos x$

(16) $\frac{1}{6}$ (17) $\sin^3 x$

(18) 3 (19) $\sin^2 x$

(10) $-\frac{1}{4} \sin^3 x \cos x$ (11) $\frac{3}{4}$

(12) $\frac{1}{2} (x - \frac{1}{2} \sin 2x) = \frac{1}{2} (x - \sin x \cos x)$

(13) $8 \sin^4 x - 2 \sin^2 x - 3$

(14) $\frac{1}{16}$

番号 氏名

5. (1) $I_1 = \int_0^\infty \frac{x}{(1+x^2)^{3/2}} dx = \frac{1}{2} \int_0^\infty \frac{2x}{(1+x^2)^{3/2}} dx$

$= \frac{1}{2} \left[-\frac{1}{1+x^2} \right]_0^\infty = \frac{1}{2}$ (1)

(2) $\int \frac{x}{(1+x^2)^{n+1}} dx = \frac{1}{2m(1+x^2)^m}$ (1)

$I_m = \int_0^\infty x^{2n-2} \frac{x}{(1+x^2)^{n+1}} dx = \left[-\frac{x^{2n-2}}{2m(1+x^2)^m} \right]_0^\infty$

$= \frac{n-1}{m} I_{m-1}$ (2)

$\therefore I_m = \frac{n-1}{m} \cdot \frac{n-2}{n-1} \dots \frac{2}{3} \cdot \frac{1}{2} I_1 = \frac{1}{m} I_1$ (4)

$I_1 = \frac{1}{2}$ $I_m = \frac{1}{2m}$ (5)

6. $\int \cos x \sin^4 x dx = \frac{1}{5} \sin^5 x$ (1)

$I_{2,4} = \int \cos x \cos^2 x \sin^4 x dx$ (2) (3)

$= \frac{1}{5} \cos x \sin^4 x + \int \frac{1}{5} \sin^4 x dx$

$= \frac{1}{5} \sin^4 x \cos x + \frac{1}{5} \int (1 - \cos^2 x) \sin^4 x dx$

$= \frac{1}{5} \sin^4 x \cos x + \frac{1}{5} \int \sin^4 x dx - \frac{1}{5} I_{2,4}$

$\therefore I_{2,4} = \left(\frac{1}{6} \sin^5 x \cos x + \frac{1}{6} \int \sin^4 x dx \right) - \frac{1}{5} I_{2,4}$ (4)

$\int \sin^4 x dx = -\cos x \sin^3 x + 3 \int \cos^2 x \sin^2 x dx$

$= -\cos x \sin^3 x + 3 \int \sin^2 x dx - 3 \int \sin^4 x dx$

$\therefore \int \cos x \sin^4 x dx = -\frac{1}{4} \sin^3 x \cos x + \frac{3}{4} \int \sin^2 x dx - \frac{3}{5} I_{2,4}$ (2)

$\int \sin^2 x dx = \frac{1}{2} \int (1 - \cos 2x) dx = \frac{1}{2} x - \frac{1}{4} \sin 2x$

$\therefore \int \cos x \sin^4 x dx = -\frac{1}{4} \sin^3 x \cos x - \frac{3}{8} \sin 2x \cos x + \frac{3}{8} x$ (12)

$$7. \alpha = \frac{3}{2} \text{ rad } l = \lim_{x \rightarrow 3-0} (3-x)^{\frac{3}{2}} \frac{\sqrt{1+x^3}}{(3-x)^2}$$

$$l = \lim_{x \rightarrow 3-0} \frac{\sqrt{1+x^3}}{\sqrt{3-x}} = \infty \text{ 无意义 (247)}$$

$$\alpha = 2 \text{ rad } l = \sqrt{28} \approx 5.29 \text{ 无意义 (247)}$$

$$8. I \text{ 区间 } x = \frac{\pi}{4} - t \text{ 替换 } dx = -dt$$

$$\frac{x}{t} \Big|_{\frac{\pi}{4} \rightarrow 0} \rightarrow \frac{\pi}{4} \rightarrow 0, 1 + \tan x = 1 + \tan\left(\frac{\pi}{4} - t\right) = 1 + \frac{1 - \tan t}{1 + \tan t}$$

$$\therefore 1 + \tan x = \frac{2}{1 + \tan t} \text{ 分子}$$

$$I = \int_0^{\frac{\pi}{4}} \log\left(\frac{2}{1 + \tan t}\right) dt = \int_0^{\frac{\pi}{4}} (\log 2 - \log(1 + \tan t)) dt$$

$$= \frac{\pi}{4} \log 2 - I \quad \therefore I = \frac{\pi}{8} \log 2 \quad (573)$$

$$9. dx = -\frac{1}{(t+1)^2} dt, \lim_{x \rightarrow 1-0} t = \lim_{x \rightarrow 1-0} \left(\frac{1}{x} - 1\right) = \infty \quad (12)$$

$$1 - x = 1 - \frac{1}{t+1} = \frac{t}{t+1} \quad (13)$$

$$\therefore B(p, q) = \int_0^1 \frac{1}{(t+1)^{p-1}} \left(\frac{t}{t+1}\right)^{q-1} \left(-\frac{1}{(t+1)^2}\right) dt$$

$$= \int_0^1 \frac{t^{q-1}}{(t+1)^{p+q}} dt \quad (14) \quad p+q \quad (15) \quad q-1$$

$$\text{令 } x = \cos^2 \theta \quad (0 \leq \theta \leq \frac{\pi}{2}) \rightarrow dx = -2 \cos \theta \sin \theta d\theta \quad (16)$$

$$\lim_{x \rightarrow 1-0} \theta = \frac{\pi}{2} \quad (17), \lim_{x \rightarrow 0} \theta = 0 \quad (18)$$

$$\therefore B(p, q) = \int_{\frac{\pi}{2}}^0 (\cos^2 \theta)^{p-1} (\sin^2 \theta)^{q-1} (-2 \cos \theta \sin \theta) d\theta$$

$$= 2 \int_0^{\frac{\pi}{2}} (\cos \theta)^{2p-1} (\sin \theta)^{2q-1} d\theta \quad (19) \quad (20) \quad 2p-1 \quad (21) \quad 2q-1$$

$$\quad (10) \quad 2p-1 \quad (11) \quad 2q-1 \quad (652)$$

$$10. x = \sec \theta \quad (0 \leq \theta < \frac{\pi}{2}, \pi \leq \theta < \frac{3\pi}{2}) \text{ 替换 } dx = \sec \theta \tan \theta d\theta$$

$$dx = \tan \theta \sec \theta d\theta, \sqrt{x^2 - 1} = |\tan \theta| = \tan \theta \quad (\theta \text{ 范围})$$

$$\therefore I = \int \frac{\tan \theta}{\sec \theta} \cdot \tan \theta \sec \theta d\theta = \int \sin^2 \theta \cos \theta d\theta$$

$$= \frac{1}{3} \sin^3 \theta, \sin \theta = \tan \theta \cdot \frac{1}{\sec \theta} = \frac{\sqrt{x^2 - 1}}{x} \quad (21)$$

$$I = \frac{\sqrt{(x^2 - 1)^3}}{3x^3}$$

(47)